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void g jiki_tip( void) {
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int i;
int j;
for( i =0; i <= TIP_MAX_X; i++){
for( j =0; j <= TIP_MAX_Y; j++){
if(tiplillil == 1 {
[/TorXD_EN—TELIfXTTFy THAHEINEET

int k;
if( g atari( jiki.y + jiki.sokudo_y, jiki.takasa, j * TIP_TAKASA,
TIP_TAKASA)) {

if( g_atari( jiki.x, jiki.haba, i * TIP_HABA, TIP_HABA)) {
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if( jiki.sokudo_y > 0) {
//FICEMN>TEENHD &=
for(k =0; ; k+) {
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if( g atari( jiki.y + k, jiki.takasa, j * TIP_TAKASA,
TIP_TAKASA)) {

jiki.sokudo_y = k - 1;

jiki.flag = 1;

break;
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}
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else if( jiki.sokudo_y < 0) {
//ZBBIFEICHMADTWNDEE
for( k = 0; ; k—) {
if( g_atari( jiki.y + k, jiki.takasa, j * TIP_TAKASA,
TIP_TAKASA)) {
Jiki.sokudo_y = k + 1;
break;

J

if(g_atari( jiki.x + jiki.sokudo_x, jiki.haba, i * TIP_HABA, TIP_HABA)) {
if( g_atari( jiki.y, jiki.takasa, j * TIP_TAKASA, TIP_TAKASA)) {
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if( jiki.sokudo_x > 0) {
for(k =0; ; k+) {
if( g_atari( jiki.x + k, jiki.haba, i * TIP_HABA,
TIP_HABA)) {
jiki.sokudo_x = k - 1;
break;

}
}
else if( jiki.sokudo_x < 0) {
for( k = 0; ; k—) {
if( g_atari( jiki.x + k, jiki.haba, i * TIP_HABA,
TIP_HABA)) {
Jiki.sokudo_x = k + 1;
break;
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g jiki_sousa(); &
@DNMIEEITS
jiki.x += jiki.sokudo_x;
jiki.y += jiki.sokudo_y;
DORIZ g jiki_tip(), ZBMLEVEWVWTEVDTREDIFTLLEELY,
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